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713]13|5(4|1213|3|4|6[5]6[2|3|4
1] 10972 Mec1, Practica dom1, Mec2, Algebra / MS, Mecanisme taxa
2| 8344 | O] 6/ O] O] 6 O] 5| Of O] O] 6 O] 7] O] O 17|AM, SIM, Mec1, Practica dom1, Mec2, Ed fiz1 / MS, RM1, TCD, RM2, MN1, OM1 0
3| 10080| 4| 7| 7| 7| 8] 8] 7| 9| 6] 9| 7| 9|10 9|10 53| -/RM1 0
4| 10086 | O] Of 7| O] 6| O 6] Of 4| O] 7| O 7| 6|10 24| - / RM1, Ed fiz2, RM2, OM1, PAC, Tribologie, VM 0
5] 10104| O 5| 7| 6| 6| 6] 6 8| 4] 6 6] 7| 9| 6|10 49(SIM / RM1, Termoth2, OM1, VM 0
6| 10124 O 6 4] 9| 7| 7] 7| 9| O] 9] 8| 8| 9] 8| O 42| - / RM1, Mecanisme, Termoth2, RM2, OM1 0
71 10130| O Of O] Of 9] 9 7] 9| O] Ol O] O| 8] 6] O 171AM, SIM, Mec1, DTI1, Fizica, Termoth1, Chimie / RM1, Mecanisme, Termoth2, Ed fiz2, RM2, VM 0
8| 10147 O 7| 4| 7| 7| 7] 6|10 5] 8] 8| 9| 9] 8| 9 50|Termoth1 / RM1, Termoth2, RM2, OM1 0
9| 10149| O| 6| 7| 5| 5] 8| 6] O 4] 7| 8] O 8] 8| 9 40|SIM, Termothl / RM1, Termoth2, TCD, RM2, OM1 0
10| 9762 | O 6| 7| 7| 6| 6] 6 9| 4] 7{10] 0] 8| 8| O 39|SIM, Mec1, PCLP, Practica dom1, Mec2, DTI2 / RM1, Mecanisme, Termoth2, OM1, Practica dom2 0
11] 10154 O O] Of O] O] Of O O] Ol Of O Of O] O] O 0[SIM, Mec1, PCLP, Mec2, Termoth1, Chimie, Ed fiz1 / RM1, Mecanisme, Termoth2, TCD, OM1 0
12| 10170| Of 6| 7| 6| 9] 6] 6 9| 5] 8| 7| 0] 7| 8|10 47(AM, SIM, Mec1, Mec2, DTI2, Termoth1, Ed fiz1 / RM1, Mecanisme, Termoth2, RM2, VM 0
13| 10185 O 6] 5 9] 7| 7| 6| 9] 5/10] 9| 9| 9| 9|10 53|Mec2, Termothl / Mecanisme, Termoth2, RM2, OM1 0
14| 10192 O 7| 6| 6| 8] 9| 8[10| 4] 9{10| 8|10 7|10 49( - /RM1, OM1-6 0
15| 10464 | O O] O 6] 7| O] O| 8] 4| 7| 8| O 8] 9] 9 32|SIM, Mec2, Fizica, Termoth1, Chimie, TM / RM1, Mecanisme, Termoth2, RM2, VM, Ed fiz3 0
16| 10232| Of O] O] Of O] O] Of Ol O] Of O] 0] Of O] O 0|SIM, DTI1, Mec2, DTI2, Fizica, Termoth1, TM / RM1, Mecanisme, Termoth2, TCD, OM1 0
171 10235] O O] Of O] 6/ O] O] O] Ol O] O Of O] O] O 4|AM, SIM, Mec2, Termoth1, Ed fiz1 / RM1, Termoth2, RM2, OM1, PAC 0
18| 10240| 8| 9| 8| 9| 8| 9] 9| 9| 9] 9(10{10]10{ 10|10 9,11 60|- 0
19| 10274 O] 7] 6] 9] 9| 7| 6| 9| 5 9| 8| 9| 9| 8|10 53|SIM, Mec1, Mec2, Ed fiz1 / RM1, TCD, Ed fiz2, RM2, OM1, VM, Ed fiz3 0
20| 10276 | 5| O] Of O 8] Of 6/ 9] O O O] Of O] Of O 17| -/ RM1, VM-6 0
21| 10289| O] O] O] O] O] O] O] O Of Of Of Oof Of O] O 0|AM, SIM, Mec1, PCLP, Mec2, DTI2 / RM1, TCD, RM2, MN1, Tribologie 0
22| 10313 | O| 8] 4| O| 8] 7| 7| 6] 4| 8| 8] 9(10| 7|10 41(AM, SIM, Mec1, Mec2, Termoth1 / RM1, Mecanisme, TCD, RM2
23| 9927 | Ol Of O] Of O] Of O] Of O] Of O] Of O] O] O 0|SIM, Mec2, DTI2, Algebra, Chimie / RM1, Mecanisme, TCD, RM2, OM1 0
24| 10362 | 5| 7| 4| O 6] 7| 6| 8] 4| 8] 7| 8| 9| 9|10 48(SIM, Mec2, Termoth1 / RM1, TCD, RM2, VM 0
25| 10377| Ol 6| 5| 5| 6] 7| 5|10 O] Of O] O 8] 7| O 28]|SIM, Mec1-5, PCLP, Mec2-5, DTI2, Termoth1, TM / RM1, Mecanisme, Termoth2, TCD, VM 0
26| 10393 | 6| 7| 6| 8| 7| 6| 6] 9] 5|10 8| 810 9(10| 7,683 60|-/RM1, Termoth2-5, RM2, OM1, Ed fiz3 0
27110396 | Ol 6| 51 Of O] 7| 6] Of 5] 7| 7] O 8] 8| O 31|AM, SIM, Mec1, Mec2 / RM1, Mecanisme, RM2, Tribologie, VM 0
28| 10397 | O| 8] 6| O 7| 6| 6| 8] 4| 9| 6] 0[{10| 8|10 38|SIM, Mec1, Mec2, DTI2, Fizica, Termoth1, TM, Ed fiz1 / RM1, Termoth2, TCD, MN1, PAC, Ed fiz 3, Practica dom2 0
29| 10398 | 3| 7| 7| Of 9| 8| 7|10| 4] 9| 7| 8| 8] 9|10 441SIM, Mecl, Mec2, Termothl / RM1,Termoth2, RM2 0
30| 10415 O| 7| 4| 5] 7| O 5| O] 4| O O] Of 7| 8| O 20|AM, CE, Mec1-5, GD, Mec2-5, Termoth1, Chimie, TM / RM1, Mecanisme, RM2, Ed fiz3 0




